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Measuring Capacitance Models — Attempt #1:. Rda. poer
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Measuring Capacitance Models — Atfempt #2 — add switches

and a reference capacitor
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Measuring Capacitance Models — Attempt #2 — add switches
and a reference capacitor
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Measuring Capacitance Models — Attempt #3 — known initial
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Measuring Capacitance Models — Attempt #3 — known initial
condition
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How can we go from voltage measurement to binary
answer: touch or no touch?
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How can we go from voltage measurement to binary

answer: touch or no touch?

* New tools are needed — new circuit elements
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Current-controlled voltage source
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An example of an Op-amp circuit diagram

+V Internal schematic of a model 741 operational amplifier
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Schematic diagram of a model 741 op-amp.



Operational Amplifier

An op-amp (operational amplifier) is a device that transforms a small voltage difference into a very large

voltage difference.
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An op-amp has two input
terminals marked (+) and (-)
with potentials U+ and U-, two
power supply terminals called
VDD and VSS, and one output
terminal with potential Uout.
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Operational Amplifier Voo ~Vss o AN | U*

An op-amp (operational amplifier) is a device that transforms a sma
voltage difference.
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Comparator — optimized for binary output
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Comparator — optimized for binary output
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